GEM Car Parts Direct

888-677-4961
Click Here To Check For Parts

L0103-01227

N
ﬁ

ASSY, SUSPENSION -FRONT 46 IN WIDE - 10" W/WHEEL END
ITEM PART NO. DESCRIPTION

12 0522-00048 BOLT, HEX - M12 X 1.75 X 55 LG HHCS - GR 10.9 ZN YLW
13 0522-00213 BOLT, HEX - M10 X 1,50 X 60 LG HHCS - GR 10.9 ZN BLK
14 0522-00246 BOLT, HEX - M10 X 1.50 X 40 LG HHCS - GR 10.9 ZN

15 0522-00395 BOLT, SHOULDER M6 X 1 - 6G X 17.8 LG CL 10.9 RC 33-39

PART NO. arv.
1 0103-00282 ASSY, A-ARM - UPPER LH 1
2 0103-00283 ASSY, A-ARM - UPPER RH 1
3 0103-00284 ASSY, A-ARM - LOWER 2
4 0103-00289 ASSY, SPRING OVER SHOCK 2
5 0103-01214 ASSY, KNUCKLE - RH 10 INCH 1
6 0103-01215 ASSY, KNUCKLE - LH 10 INCH 1
7 0111-01121 ASSY, CALIPER - LOADED 2
8 0116-00491 ASSY, HUB - DISC BRAKE 2
9 0311-01394 DISC, BRAKE - 7.56" DIA 2
10 0521-00023 NUT, HEX - NYLOCK M12 X 1.75 ZN 4
11 0521-00212 NUT, HEX - NYLOCK M10 X 1.5 ZN BLK 8
4
8
4
8

256 Highway 17 North, Palatka, FL 32177 GEM Parts Catalog Page 7


http://gemcarpartsdirect.com/availability.html

GEM Car Parts Direct

888-677-4961
Click Here To Check For Parts

L0103-01229

ASSY, SUSPENSION -FRONT 46 IN WIDE - 12" W/WHEEL END

ITEM PART NO.
1 0103-00282
2 0103-00283
3 0103-00284
4 0103-00289
5 0103-01216
6 0103-01217
7 0111-01121

8 0116-00491
9 0311-01360
10 0521-00023
1 0521-00212
12 0522-00048
13 0522-00213
14 0522-00246
15 0522-00395
* N/A

Page 8

DESCRIPTION

ASSY, A-ARM - UPPER LH

ASSY, A-ARM - UPPER RH

ASSY, A-ARM - LOWER

ASSY, SPRING OVER SHOCK

ASSY, KNUCKLE - RH 12 INCH

ASSY, KNUCKLE - LH 12 INCH

ASSY, CALIPER - LOADED

ASSY, HUB - DISC BRAKE

DISC, BRAKE -9.21" DIA

NUT, HEX - NYLOCK M12 X 1.75 ZN

NUT, HEX - NYLOCK M10 X 1.5 ZN BLK

BOLT, HEX - M12 X 1.75 X 55 LG HHCS - GR 10.9 ZN YLW
BOLT, HEX - M10 X 1,50 X 60 LG HHCS - GR 10.9 ZN BLK
BOLT, HEX - M10 X 1.50 X 40 LG HHCS - GR 10.9 ZN
BOLT, SHOULDER M6 X 1 - 6G X 17.8 LG CL 10.9 RC 33-39
BOLTS ARE AVAILABLE WITH ITEM 0111-01121 ONLY

GEM Parts Catalog

Oo-boo-boohl\)l\)l\)—\—\l\)l\)_\_\lg

256 Highway 17 North, Palatka, FL 32177


http://gemcarpartsdirect.com/availability.html

GEM Car Parts Direct

888-677-4961
Click Here To Check For Parts

=@ OO OO @
_ A
NN - @

<o ‘Pi/\, SHEN
(0= YN ENELE0);
\\\ /1)/0)‘

L0102-01051

ASSY, SUSPENSION - REAR 2P/4P/SHT - 05

ITEM PART NO. DESCRIPTION QryY.
1 0102-01035 ASSY, ARM TRAILING 4
2 0103-00013 ASSY, SHOCK SPRING OVER SHOCK - 2
3 0202-00157 WELD REAR AXLE TRAILING ARM 1
4 0521-00023 NUT, HEX - NYLOCK M12 X 1.75 ZN 10
5 0522-00044 BOLT, HEX - M12 X 1.75 X 90 LG HHCS - GR 10.9 ZN YLW 4
6 0522-00046 BOLT, HEX - M12 X 1.75 X 65 LG HHCS - GR 10.9 ZN YLW 4
7 0522-00366 BOLT, HEX - M12 X 1.75 X 150 LG HHCS - GR 10.9 Z 2
8 0524-00115 WASHER, FLAT - M12 13mm ID X 24mm OD X 2.5mm THK 4

256 Highway 17 North, Palatka, FL 32177 GEM Parts Catalog Page 9


http://gemcarpartsdirect.com/availability.html

GEM Car Parts Direct

888-677-4961
Click Here To Check For Parts

OO

ASSY, SUSPENSION-REARLNGBCK 05

ITEM PART NO. DESCRIPTION QrY.
1 0102-01035 ASSY, ARM TRAILING 4
2 0103-00013 ASSY, SHOCK SPRING OVER SHOCK - 2
3 0202-00157 WELD REAR AXLE TRAILING ARM 1
4 0521-00023 NUT, HEX - NYLOCK M12 X 1.75 ZN 10
5 0522-00044 BOLT, HEX - M12 X 1.75 X 90 LG HHCS - GR 10.9 ZN YLW 4
6 0522-00046 BOLT, HEX - M12 X 1.75 X 65 LG HHCS - GR 10.9 ZN YLW 4
7 0522-00366 BOLT, HEX - M12 X 1.75 X 150 LG HHCS - GR 10.9 Z 2
8 0524-00115 WASHER, FLAT - M12 13mm ID X 24mm OD X 2.5mm THK 4

Page 10 GEM Parts Catalog 256 Highway 17 North, Palatka, FL 32177


http://gemcarpartsdirect.com/availability.html

